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[locnenoBaTebHOCTU

U1)1;4; 5:7.9:10; 20; ... 5)22; 3% 4%
1.1.1.1. 1.2.3.4.
2)5°3° 475 6)2°3°4°5"
3)‘“‘%“3_%" 7)1;3;7;13;.
I 11 1
4)5 755 5 8) 1;2;3;5;8;...

[Iposepvme ananumuueckyro hopmyny n-20 uieHa
OJIA DIMUX NOCIIEO08AMENbHOCMEI.

a, = 1 a =—"-a :(—1)””-1, ne N
n+1 k 5
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(opMyJia n- 1o 4jieHa

[ Ipumepsr:

1)a =2n+3 a,=2-1+3=5 a,=2-2+3=7 a,=2-3+3
2) an=100-10n2. Hauoume nepevie mpu unena.

3) an=n2-2n—6. AHensemces au unerom
nocineoosamenvHocmu (-3)?
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I Ipnmep:

ﬂCZHCZ NnOC1e008aAMeENbHOCb.

a1=1 : a2=3 ,a +2=2an+an =
a3=2a1+a2=2°1+3=5
a 4=2a2+a3=2°3+5=1 1

a5=2a3+a4=2'5+1 1=21 ...
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3:7:13:19; 29; ...
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